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HW%.! Graphing Sine and Cosine Function with Phase Shift, Vertical Expansion and Compression
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1. Indicate the transformations for each of the following equations:
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Find a general formula for all the
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4. Graph the function on the graph provided: y = 4;Sin(0 ' J7 ] g S
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6. Each function in the form of y = asin (() (') +4- ¢l , match it with the corresponding graph on the right:
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7. Find the equation of a function in the form of y = acos(x ~h)+d with the following:
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8. Given the function y = acos(@ ~b)+d , whatis the range of the function?
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9. Inorder for the function y = asin (H & c) +d to have an x-intercept, which of the following must be true?
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10. Find the equation of a function in the form of v = asin (\ = b) +d with a maximum value of 3 when x=0

and a minimum of -2. 0( _
0.

-/./%3? R %7/ a: QS
‘;é;': *é’ ool ke b=
bSO g0 - - w‘f xﬁ_;m('x*« j’;’)-& 0- S

/A A s
G sm  dwnciion voall ot g (D,D) ™ t\os s\\M A° o % {

11. Find the amplitude and phase shift of the following function: y = sin, € + sin O cos” 0
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12. Find the amplitude and phase shift of the following function: y = 45 30°cos@ — 4sin@cos30°+3
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